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(6.907 &+ 0.105 £ 0.27) x10~2

0.101 £ 0.001 =+ 0.003
0.147 £+ 0.002 £ 0.003
0.193 £ 0.002 £ 0.003
0.244 £+ 0.002 £ 0.003
0.283 £ 0.002 £ 0.004
0.312 £ 0.002 £ 0.004
0.318 £ 0.002 = 0.003
0.317 £ 0.002 £ 0.003
0.311 £ 0.002 £ 0.003
0.28 £ 0.002 £ 0.002
0.246 £ 0.002 £ 0.004
0.191 £ 0.002 £ 0.003
0.151 £ 0.002 £ 0.003
0.104 £+ 0.001 £ 0.003

(6.531 + 0.103 + 0.226) x 102

0.781 £ 0.012 + 0.061
1.143 £ 0.014 £ 0.086
1.665 £ 0.017 £+ 0.103
2.186 £ 0.02 £ 0.141
2.755 £ 0.022 £ 0.171
3.203 £ 0.023 £ 0.193
3.524 = 0.024 = 0.215
3.598 £ 0.025 £ 0.224
3.58 &= 0.026 &= 0.224
3.518 £ 0.025 £ 0.218
3.167 = 0.023 £ 0.192
2.777 £0.022 £ 0.171
2.163 £ 0.02 = 0.142
1.709 £ 0.019 £ 0.107
1.18 = 0.015 = 0.084
0.738 £ 0.012 = 0.055



